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16.

Choose the correctly spelt word/s.

a. PROMENADE

b. PROMINANCE

c. PROMISCUOUS

Answer Options:

(1) Onlyc (2) Onlyaandc
(83) Onlyaandb (4) All of the above

A15

17.

. Match the following :

a. The feeling that you have previously experienced I De jure
 something , -

b. The crime of killing one’s brother or sister II.  Regicide

c.  According to the law ' III. Fratricide

d. The crime of killing a king or queen IV. Déjavu

Answer Options :
a b

@ 1 I
@ IV I In
@ Im IV i
@ IV I I I

a :
III

n—qn—tzo

18.

She four awards.

Choose the correct alternative to complete the sentence meaningfully.
(1) carried away (2) carried off

(3) carried on (4) carried out

19.

Identify complex sentence/s.

a. Iknow that Mohan is a bank manager.

_b.  What you told me is true.

c¢. I'helped him because he was very weak.

Answer Options :
(1) Onlyec (2) Onlyaandc
(83) Onlybandc (4) a,bandc
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20. . In which of the following is an article used correctly ?
a. = Iwas tired of the life.
b.  The both anxious parents sat up the half night.

c.  The Kapoors are our neighbours.

Answer Options :
(1) Onlyc - ’ (2) Onlya

(3) Onlybandec , (4) a,bandc

Read the passage carefully and answer the questions no. 21 to 25 given below.

Diet plays a vital role in the maintenance of good health and in the

prevention and cure of disease.

The human body builds up and maintains heélfhy cells, tissues, glandé and
organs only with the help of various nutrients. The body cannot perform any of its
functions, be they metabolic, hormonal, mental, phySical or chemical, without
specific nutrients. The food which provides these nutrients is thus one of the most

essential factors in building and maintaining health.

Nutrition, which depends on food, is also of utmost importance in the cure of
disease. The primary cause of disease is a weakened organism or lowefed resistance
in the body, arising from the adoption of a faulty nutritional pattern. There is an
elaborate healing mechanism within the body but it can perform its functions only if

it is abundantly supplied with all the essential nutritional factors.

Human cells need at least 45 chemical components and elements. Each of
tthe 45 substances, called essential nutrients, must be present in an adequate diet.
The nutrients include oxygen and water. The other 43 essential nutrients are
classified into five groups : carbohydrates, fats, proteins, minerals and vitamins. All
45 of these nutrients are vitally important and they work together. Therefore, the

absence of any may result in disease, eventually death.

Research has shown that almost all varieties of diseases can be produced by
an undersupply of various nutrients. These nutritional deficiencies occur on account
of various factors, including the intense processing and refining of foods, the time lag

between the harvesting and consumption of vegetables and fruits, the chemicals
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used in bleaching, flavouring, colouring and preserving foods and the chemical
fertilizers, fungicides, insecticides and spfays used for treating the soil. Therefore, as
a first principle 6f nutrition one should insist on whole meal flour and whole meal
bread and avoid the white stuff. '

Research has also shown that diseases produced by combinations of

deficiencies can be corrected when all the nutrients are supplied, provided the

- damage is not irreparable. A well balanced and correct diet should be made up of
foods which in combination would supply all the essential nutrients.

It has been found that.a diet which contains liberal quantities of (i) seeds,
riuts, and grain, (ii) vegetables, and (iii) fruits would provide adequate amounts of all
the essential nutrients. These foods have, therefore, been aptly called basic food

groups and the diet containing these food groups as optimum diet for vigour and
vitality.

21. The passage focuses on : _
a.  Nutrition for vigour and vitality.
b. Importance of nutrients in curihg diseases.
c
d

Types of nutrients.

Balanced diet.
Answer Options :
(1) Onlyaandb : (2) Onlycandd
(3) Onlya,bandd (4) All of the above

22. What are the causes of nutritional deficiencies ?
a. Use of preservatives in food
b Intake of refined food
c.  No use of pesticides and chemical fertilizers
d.  Use of wholesome foods and fruits
e

Long interval between harvesting and consumption of vegetables and fruits.
Choose the correct alternative :

Answer Options :
(1) a,b,c,d,e ' . (2) a,b,d,e
(3) a,b,e ' . (4) a,b,ce
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- 23.  The phrase “well balanced diet” refers to :

a. Intake of a variety of foods.

b. = Consumption of whole meal bread and the white stuff.

c. Proper consumption of vegetables and fruits.

d. Intake of the foods which supply all the essential nutrients.

Choose the correct alternative to complete the sentence.

 Answer Options :
() Onlyaandb
2) Only» bandd
3) Onlya
@ oOnlyd

24.  Find out the word in the passage which means
“Not supplied in required quantity”
(1) Deficiency -
(2) Nutrition
(3) Liberal quantity

(4) Undersupply

Absence of any of the essential nutrients may lead to death.

25. a.
b. Oxygen and water are vital elements in human cells.
c. Diseases caused by nutritional deficiencies are irreparable.
d. Diet is one of the essential factors in building and maintaining good health.

Choose the correct alternative/s.

Answer Options :
(1) Onlya,bandd
(2) Onlya,candd
(3) Onlyb,candd
(40 Onlybandc
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26. I am extremely happy.
Select the correct alternative to tag question to the above sentence.
(D) . amI? -
(2) ____ ismtI?
3 _____arentI?
27. Before Akshay came to Bollywood,he __in hotels for five years.
Select the correct alternative to complete the sentence meaningfully. '
(1) was working
(2) has been working
(3) had worked
(4) had been working
28.  Choose the alternative closest in meaning to the word in capitals.
The negotiations have reached an IMPASSE.
- (1) Point at which further development is blocked.
(2) Point at which highest profit is guaranteed.
(3) Point of no profit no loss.
- (4) Point at which a meeting concludes.
29. Identify the part of speech of the word underlined in the following sentence : .
Don’t go near the edge. ' E |
(1) Adverb - (2) Adjective
(38) Preposition (4) Conjunction
30. Which of the following is not a synonym of the word GARRULOUS ?

a. Loquacious

b. Talkative

c. Gauge

Answer Options :

(1) Onlyaandb ~ (2) Onlybandec
(3) Onlyec: (4) All of the above
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H.  TH gCH TR T GlauH

q. THSA AR

. heren At wrEg A s )

S, HEIGR TSHaTes U

3. Wﬁmﬁlﬁaﬁa&w%ﬁmmﬁmmmm
It I

(1) A, 9,3 (2 #,9,%,3

3) A, =+ 4) 9, %,3

Which of the following features of the Indian Constitution are inconsistent with the
Federal principle ?

a.  One Constitution for the States

b Single citizenship

c More legislative power to the Centre

d. Appointment of Governor by the Centre

e. States field of legislation cannot be invaded by the Centre

Answer Options : -
(1) a,bc,de (2) a,b,c,d

@) a,c d (40 b,ce

32. @refia faum faemm o -
A O s § R €iaE 3firea o,
q. o wfaamma 44 =0 Gfau™ geRll FRETGR STad HoaE AT,

W‘iﬁﬁ:
(1) % 3 SUS AR (2) 3 SR AW, T IH IR
(8) 31 3ftr § At WU 3MTad (4) 31 i & gt 9% TR

Consider the following statements :
a. ‘Fundamental Duties’ is a salient feature of the Indian Constitution.
b. These were added by the 44 Constitutional Amendment Act in the

Constitution.
Answer Options: ,
(1) Only ais correct (2) .ais correct, b is wrong

(3) Both a and b are correct (4) Both a and b are wrong
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33.  HIUHTEAT SR FAAIER & S AT Heft S 2
S (1) weH 324
(2) HAT 280
(3) heH 224
(4) e 380

Which Article of the Constitution provides for the Finance Commission ?
(1) Article 324

(2) Article 280

(3) Article 224

(4) Article 380

34. rworEn afidea Sedia weieds SR /R g @ ?
. T it T 1921 7Ed e,
9. waren fee o warehaT uReee S sraTers TREw SO, 3 A1 aRds T
FH IR,
%. 91 aftefia 15 clehasn degey Infr 7 TSIy 9 IR,

maﬁﬁwmmawwm
q‘a‘fdi:ﬁl’t

(1) S A

(2 ®H W

(3 TR HIS

(4) a0 wd fqum a7 Ra

What among the following is not true about the Public Accounts Committee ?
a. The Committee was set up in 1921.

b.  Its main function is to examine the annual reports of Comptroller and Auditor
General of India (CAG).

c. It consists of 15 Lok Sabha members and 7 Rajya Sabha members.
d. The term of the office of the Public Accounts Committee is one year.
Answer Options :

(1) Onlya

(2) Onlyb

(83) Onlycandd

(4) All are true -
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dArRaNT AP ghehl T faum Hoed 3R ?

9. Q9 TRk Afawmmeie wremed 6 wigmriian wH s
F.  Areaus AREAYE g Setadr.

3. ciwEien SRETAE 3% it S e T SEaw.
I IW

(1) 3,8, &AM T (2) wad 3, § AT H
(3) e A, & IO E 4) wFa aIfry

Which of the following statements are correct about Lok Sabha sessions ?

a. Lok Sabha shall meet at least twice in a year.

b. Interval between two consecutive sessions shall be less than six months.
¢.  The President summons the Lok Sabha to meet. ‘
d. Speaker of Lok Sabha will decide time and place of Lok Sabha session.
Answer Options :

(1) a,b,candd : (2) Onlya,bandc

(3) Onlya,candd (4) Onlyaandb

36.

grefiet faum femmra s onfor Jva gata faer.

9. HU GHG hedlal AN T ol ¥ v farfresrt wran fieurar wfaumgesdt
fartem wsgudty Tt foefa wifEs.

. wfeuHges v wam 365 ned fieed .

gt IW ;
(1) ad 31 37T & (2) had I T H
(8) Wod § IfOT & (4) b gd

Consider the following statements and choose the correct option.
a. A Constitutional Amendment Bill can be introduced in the Parliament only.

b. The President must give assent to the Constitutional Amendment Bill after it
is duly passed by the Parliament and ratified by State Legislatures, where
necessary.

c. Constitutional Amendment process is laid down in Article 365.

Answer Options:
(1) Onlyaandc _ (2) Onlyaandb
(3) Onlybandc : (4) All of the above
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87. TR AR SmEmren Srererh Rkt Fiet saftrean wfidean Rrerefae wsgdt g
et S, Grefiedeht wivr a1 wftrdn aee o =Td ? | ,

A, TAYgH

g T

®.  SrpEadre fadread Jar

T TSgEi SeaH

Tt I .
(1) v A (2) wad ¥ IMfor g
3 ®F® (4) ®adS

The Chairman of National Human Rights Commission is appointed by the President
on the recommendation of a Committee of certain persons. Who among the following
is/are not member of that Committee ? ‘

a. The Prime Minister ‘

b. The Home Minister

c. The Leader of the Opposition Party in the Lok Sabha
d. The Chairman of Rajya Sabha

Answer Options :
(1) Onlya | (2) Onlybandd
(3) Onlyc ‘ (4) Onlyd

38. o TS i TR G FwT S 7
' (1) Tegadi=n w@ifwim

(2) IRt vrd dareh P
(3) Iwrsgudiean FrasummHie TfFR
(@ fam fadas a1 SR R
Which of the following is an exclusive power of Rajya Sabha ?
(1) Impeachment of President
(2) Setting up of All India Services
(3) Electoral power for Vice President’s Election

(4) Power related to introduce the Finance bill
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89,  “mrn-fcar ket weHR 6 4 14 FdvEIda ST i R e frarh Gt very
FEA QU ¢ A HAH DU WAHTGERA R dframa s v e 2
(1) 8541 HieEmgeRl e, 2002
(2) 821 Hiqurge HETT, 2000
(3) 86 1 HfauTgERN HETT, 2002
(4) 8141 Gfaurge=h wrrE1, 2000

“To provide opportunities for education by Mother-Father or Guardian to their child
or ward between the age of 6 and 14 years.” By which Constitutional Amendment
Act was this Fundamental Duty added in the Constitution ?

(1) 85th Constitutional Amendment Act, 2002
(2) 82" Constitutional Amendment Act, 2000
(8) 86th Constitutional Amendment Act, 2002
(4) 81%t Constitutional Amendment Act, 2000

40. T S AT ST AATER TG FHAH A6 :
A, I Hgar |fkd
9. o U9 dgdl gt
%. of.sEL®. U9 At
$. . YW A
it I :
1) 9,%,8 A
2 49, 3#,8,
3 ,3A#,%, 3
4) 9,8 A, %
Arrange the following Committees according to their establishment year in
ascending order :
a. Ashok Mehta Committee
b. = Balwant Rai Mehta Committee
c. G.V.K Rao Committee
d. K Santhanam Committee
Answer Options:
1) b,cd,a
(2) b,a,d, c
(8) b,a,cd
(4) b,d,a,c
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41. THE UGS SHECd] §F a0 A T B I @il 6 : 1 AT AT 1R, Qe Al THE
Uz Medeh aa. 2 arimdier favaia ogHR 3 VE 2 V IR, S R, 3fOr Ry 1gwd A

Ra
1 1 1 1
W @ 5 = ® 3 @ g

Two wires A and B are made of same material and having their lengths in the ratio
6 : 1 are connected in series. The P.D. across the wires are 3 V and 2 V respectively.
Find II:—B , where R, and Ry are the radii of the 2 wires.
A
1

— 2
1) 1 2

D=

3 (4)

1
3

N | =

42, ot @ AR I ST WiElE! B M w1 T HA 2
1) 99
2 ==
3 WA _
(4) a0 T ArEATTQ

Sound waves are longitudinal mechanical waves that can travel through which of
the following mediums ? ‘

(1) Gases
(2) Liquids
(8) Solids

(4) In all of above mediums

43. 3 Fm i ofm } 2 e 7 1 fet oM, o e wRomh wreh Rt ordvet 2
(1) 33X (2) 153X
(3) 1sEi=X (4) 05 TATR
The focal lengths of two lenses are 2 m and 1 m, then the total power of a
combination of these lenses is
(1) 3D (2) 15D
3) 1D 4) 05D
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- ol forear AT I 71/ e T,

(1) e guarEr |iet

(2) W GIfeaq FFAHEIHIOHE
(3) (1) 3nfor (2) A=

(4) aOIH v T

The chemical reagent used to remove permanent hardness of water is/are
(1) only washing soda '

(2) only sodium hexametaphosphate

(8) Both (1) and (2)
(4) None of the above

45.

NF, =1 {med qRomdt fyer omepl & s stopeen e feden
.

(1) f, T @ e, e

(8) T, RN @) i, e

The resultant dipole moment in NF3 molecule is and in the direction of
atom/s. ‘

(1) low, nitrogen (2) high, fluorine

(8) high, nitrogen (4) . low, fluorine

46.

WIiedsh! SHIvraT FaTeH =T 9 JE AR ?

@ n=1,l=0,m=0,s=+%

(2) n=4,Al=0,m=3,s=—%

@)_n=Ll=1,m=O,s=_%
| .

(4) n=3,l=2,m=2’s=+2
Which of the follbwing set of quantum numbers is not possible ?

(1) n=1,17=0, m=0, s=+
2) n=4,1=0, m=3, s=—

(3) n=1,l=1,m=0, S=—

4 n=3,1=2 m=2, s=+
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47, Tl ST SFEEETE SR STE FaH T w2
(1) fagaga '
(2) HHga ' . )
(3) oIS I
4 9
Over which of the following latitudes is the Geostationary satellite set ?
(1) The Equator
(2) The Tropic of Cancer
(8) The Antarctic Circle
| (4) The Poles

48. T SEIRER TG HAHT JdSSaasl g8 STl e TR,

(1) & o (@ e

(3) dm (4) wfesium

In interpreting the aerial photograph, the pair of adjacent aerial photographs is
called

(1) Aerial photOgraph (2) Stereoscope

(3) Texture (4) Stereogram

49, GiehAtH Hod faum e o ?
(1) T wifGR SR e TERTEE ¥ T T S,
@ whw wiferET TRERT e EATEE ¥ R T .
(3) wfew wifewsh sfawrma fifwra i geifear Jam.
(4) T wifGata ST wrih R o T 3.
State which of the following statements.is true ?
(1) In the raster data model, the basic building block is the individual cell.
(2) In the vector data model, the basic building block is the individual cell.
(3) In the vector data model, well-defined boundaries. are represented.

4) | In the vector data model, locations are well represented.

FoTT BHTATS! ST / SPACE FOR ROUGH WORK ‘ P.T.O.
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50,  $TTIE EWeWid ATl Sum=a ‘HTML @1 SsedTs qul &9 /8 311 ?
(1) BRAW A AT s (Hyper Tool Markup Language)
(2) Trslts <R #hin & (Hybrid Text Making Language)
(3) EEW IHRL HIhHT hiad (Hyper Text Markup Language)
(4) wsle 2R wfE F=S (Hybrid Test Making Language)
What is the long form of the term ‘HTML’, used in relation to Internet ?
(1) Hyper Tool Markup Language
(2) Hybrid Text Making Language
(3) Hyper Text Markup Language
(4) Hybrid Test Making Language
51, SASI- HHEET 3T FHIYHR YRAINT el 1S weha! ?
(1) FeWER SEEITEl SFa8R
(2) AR Fw( e fHam
(3) SuaERETd Felfeshel wgdl
(4) SR FAR ATUAETR
The emergence of electronic commerce can be defined as
(1) The transaction of business on the Internet
(2) Electronic education on the Internet
(3) Electrical methodologies for transaction
(4) Communication on the Internet
52.  ASCII =1 $e1 BIH 1 3R ?
(1) 3N WS Faed B FhyH AESfRH
(2) ohfte Wes Hig BR FHINTH geta
(3) et vt High B IS 0T -
(4) oMt Wed Fged B FHAIE &I
What is the full form of ASCII ? '
(1) All Standard Characters for Information Identity
(2) American Standard Code for Information Interchange
(3) All Simple Codes for Infotainment Interests
(4)  American Standard Characters for Information Interchange
53. WS Tl N H ? _
(1) wERE R (2) THIAI;N
(3) 3T GR awepEw (4) 3fgasw
What is cyber bullying ? v
(1) Spamming o (2) Scareware
(3) Threatening through Internet (4) Adware

FoedT BIFTS! SR / SPACE FOR ROUGH WORK
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54. qfvaw faaerha vewma wess faenfia e 3mRd R X

1)
(2)
(3)
(4)

yfrem e ger Geem= ardEd! Ian 3ted
Y BT heIEITIAT YRR 36

In the Western Himalayas, fruit gardens are developed due to

D

(2)

3)
(4)

Soil in the Western Himalayan region being good for the growth of fruit
gardens

the Western Himalayan region receiving rainfall in winter, which is favourable

* for the growth of fruit gardens

the amount of rainfall being generally low in the Western Himalayas

Mountain climate being favourable for the growth of fruit gardens

55. HIgA WEW B WRA™ gEMHET SfashR @il shioren rarereia aRferdtEn siom
R ? :

1)
(2)
(3)
4)

e W IR fue wEa Wen Srsfae e duE = gl g,

Which of the following atmospheric conditions is responsible for the occurrence of the
Indian climatic phenomena ‘Retreating Monsoon’ ?

1)

(2)

(3)
(4)

Expansion of high pressure belt from north-west to south-east direction in
India.

The south-west monsoon winds reach the foothills of the Himalayas, blocked by
the Himalayan ranges, and then retreat from the Himalayas:.

Apparent movement of the Sun.

Occurrence of steep pressure gradient in the Indian sub-continent.

mm ST / SPACE FOR ROUGH WORK -~ PTO. .



A15 _ 22 A
56. @refid qdasvffan gfiiengd ST M 3 A el
(1) Trerfes vda, g83 fewem, et vdd, Thuiera vdd, @srg 9dd, SRIHRH 99
(2) Tt vda, fRarema vda, 985 e, s wdd, derE udd, ST gad
(3) fRrarferes vaa, sRaRt wia, TR vdd, werg vdd, 98¢ fRued, Semim gda
(4) Trnierr vaa, MR e6d, FEH 9dd, TERE Ydd, HRIHRA 994, Tee femee
Arrange in correct order the following mountain ranges from the South to North.
(1) Shivalik range, Greater Himalayas, Zaskar range, Pirpanjal range,
Ladakh range, Karakoram range
(2) Shivalik range, Pirpanjal range, Greater Himalayas, Zaskar range,
Ladakh range, Karakoram range '
(3) Shivalik range, Zaskar . range, Pirpanjal range, Ladakh range,
Greater Himalayas, Karakoram range
(4) Shivalik range, Pirpanjal range, Zaskar range, Ladakh range,
Karakoram range, Greater Himalayas
57. YRaA Falq W3 feaw 7 data wgr feaq ardfier & :

A, IEOT T FRHER e guaR 45 Rifiere.

T, IR WRA 78 TS Saes 4 dE=l AR,

AT YR T3 Hleh SFTTATS HRY HI T8 ?

(1) F=gar fogaean siges @ o8 Rggaamemg g @@ o,

(2) HATHATN TAM IN HiSUTd T s T FEES Hidauma TR,

(3) WRATe VI WITd feAH F T el W HH sTEal @ Shedd
WITE @t S gid wmar.

(4) yeeftean omE gedteAT Saa TS 66° 307 W H SNl AAHS feAHHrET SA1f0r
T Semadt frgagaregy gaTws aea .

The periodical difference between the shortest day and the longest day in India is

given below : '

a. In south near Kanyakumari it is about 45 minutes.

b. In north near Leh in Ladakh it is about 4 hours.

Why does this time difference take place ?

1) Kanyakumari is situated near the equator and Leh is far away from the
equator.

(2) Location of Kanyakumari is in the tropical hemisphere while Leh is located in
the temperate hemisphere.

(3) The periodical difference between the day time and night time is minimum in
South India while it goes on increasing towards North India.

(4) The axis of the Earth is inclined to the plane of the ecliptic at an angle of
66° 30’ giving rise to increasing length of day and night from the equator to the
poles.

FoegT BT ST / SPACE FOR ROUGH WORK
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58. @A 1200 H. ﬁmm:ﬁwn?ﬁamoﬂtﬁ foraT e AR TS AEedT fauma
Qe HIvET THIE a9 ATesd ?

(1) 3o Sy weeha a1
S (2) I Hideediy rd-wergha a4
3) I Headfa weEha T
(4) 397 g 5 HHE |
Which of the following types of forests is found in areas above 1200 m altitude and
receiving 400 cm and more amount of rainfall in the Sahyadris ?
(1) Tropical evergreen forest
(2) Tropical semi-evergreen forest
(8) Sub-tropical evergreen forest
(4) Tropical humid deciduous forest

59. @reht A faum foeft omda @ (o1) wfewiea fvm owm (3) § @R FROT IR,
(1) WWWMW@HWWH@W@HW
(9) TENEW YEeEdH S TR R,
gt I |
(1) (31) fvr (F) 8 F RT3 () B () W AT 3R
(@) (31) I (3) B G e oTRA W () R (3) T TR T A
(3) (31) 3 SO R IV () B TH.91R
(4) (1) B o 3R 99T (§) B S 3R

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (B).

(A)  Groundwater resource has been depleted intensively in'Maharashtra.
(B) There is a need for groundwater conservation in Maharashtra.

Answer Options : »

.(1) Both (A) and (B) are true and (B) is the correct explanation of (A)

(2) - Both (A) and (B) are true but (B) is not the correct explanation of (A) -
(8) (A)is true but (B) is false

(4) (A)is false but (B) is true

L BT SIRTT / SPACE FOR ROUGH WORK ' P.T.O.
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60.

24 ' A

 MENgTde waia I o Fisomdia faygh @ i e v s

(1) ispurdier a1 fregama SH-yor g9 T0eiel HH A

(2) mmmﬁwmmwwm@ﬁmm
(3) feramer wait ayaren fowr momq ger

4) mﬁmmamgﬁmw}yﬁwwwﬁwa@HMW

'Why is the sex-ratio in the districts of Sindhudurg and Ratnagln in Konkan

maximum in Maharashtra ?
(1) Low rate of female foeticide in these districts of the Konkan

(2) Out-migration of male working population from these districts of Konkan to the.
industrial region of Mumbai .

(3) Dowry is given to bride on the occasion of marriage

(4) The number of female children is increasing due to improvement in health and
medical facilities in these districts

61.

e AfgeTt 7eurd, ‘SR HTEAT JAT=A1 ki IAeUTee el i A HIZAT afseia a9 gRifad. ria
Y 9 N S R NP TN Sadie W § SNWeAl adied awre
-2ty R.” W ufge au ot ?

(1) 459 (2) 3679

(3) 37ad (4) 469

A woman says, “If you reverse my own age, the figures represent my father’s age. He

is of course older to me and the difference between our ages is three-eleventh of their
sum.” The women’s age is

(1) 45 years ' : (2) 36 years
(8) 387 years (4) 46 years

62.

25 ST THERAE Terh Ui Teiaie Hodrd TR geiqrerre aen fod e ?
(1) 125 : (2) 625
(3) 250 4) 300

There are 25 people in a group. If all shake hands with one another, how many
handshakes are possible ?

(1) 125 (2) 625
(3) 250 (4 300
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i wr%di I ft frameten yeATe S v e

P,QR,S,T, U =P V ® IRTe 49 a6 vaTd . mmﬁ%ﬂmmw
Yarg X, SR, Ren e @l 3 9 g Y% [ ad forft wardt stea. =ma gm
Y, aqéaarrﬁrzﬁwaﬁam%a ‘R’é’f@ﬁéﬂ&%ﬁr‘cﬁmmaﬁvﬁPmUm
waa SaT Hid . Q? IRY AR 3HF ¥ o V I GHIT HR A Jq FA. S & IoW
A AR, N URSAT FIHAE =4h Thre AN Yard Hilq A, P 3 AWl T onfor ¥
g ya@ @,

R B S 98N YaTE a2 _

(1) &R (2) Ran (3) =l (4) fam areEn &t
Study the following information carefully and answer the questions given below :
P,Q R, S, T, Uand V are travelling in three different vehicles. There are at least
two passengers in each vehicle. Car, Rickshaw, Lorry and each vehicle has
passengers of both the sexes. There are two Merchants, two Doctors and three
Lawyers among them. R is a lady doctor and she does not travel with the pair of
sisters, P and U. Q, a male merchant, travels with only V, a Lawyer in vehicle car. S
is a male doctor. Two persons belonging to same profession do not travel in the same

. vehicle. P is not a merchant and travels in vehicle Rlckshaw

In which vehicle does R travel ?

(1) Car . (2) Rickshaw  (3) Lorry (4) Rickshaw or Lorry

3:37 TN USATBE] AT UTqHT o] des uifad ?

(1) 8:23 (2) 8:13 (3 9:13 4) 9:23
What will be the mirror image of a clock at 3:37 ? ’ -
(1) 8:23 ' (2) 8:13 (3) 9:13 4 9:23

65.

grefter s frveor =

- (A) (B) (®))
1) w3 AHAN e i R,
(2) Hd AFEE &THS TN AR,
(3) ud IFE uieid TaE R,

(4) SF (A)F (B) =t afedid awe SR,

Observe the following diagrams :

6

8

(A . (B) ©)
(1) The area of all diagrams are different.
(2) The area of all diagrams are same.
(3) The perimeter of all diagrams are same.
(4) Diagram (A) and (B) have the same perimeter.

FEE] PHITS! SIFT / SPACE FOR ROUGH WORK ' P.T.O.



A15
66.
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fa, @, ghd, <9, w39, S o g € g T Ui sae ofRd. gid, d9e g
e a9, mamamwmﬁmamamwm SIS

QU SE} AT AR, R EYF HIS THAT AR ?
(1) ghat 9 99 Jreamed (2) fe 9 g5 I=Ame

(3) €W 9 HeWl IAmed (4) ghe 7 yea T

Anil, Sanjay, Sunil, Deepak, Mahesh, Prashant and Suresh are seated in a row.
Suml is seated between Deepak and Anil, Mahesh is seated between Prashant and
Suresh and SanJay is seated between Deepak and Prashant. Anil and Suresh are
seated at both ends of the row, then where is Deepak seated ?

(1) Inthe middle of Sunil and Sanjay (2) In the middle of Anil and Sanjay

(3) Inthe middle of Sanjay and Mahesh (4) In the middle of Sunil and Prashant

67.

TIehEth v sis fewman st Ada ?

45
7

15/ .
7] 21

(1) 8 ‘ (2" 10 3 14 : (4) 16

Which-one of the folloWing numbers will occupy the blank space ?

45
? 29

21

(1) 8 (2) 10 3 14 4) 16

68.

& HER AR, IAT 3 TG AR, T JewAT AaRa HIv! e e ?
1 8 @ 9 @ 10 @ 1

The day after is Monday. The date tomorrow is 3. Then what will be the date on next
Sunday ? :

@ 8 @ 9 3) 10 @ 11

FEEAT ST STAIT / SPACE FOR ROUGH WORK
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R :

wd Fod fepeean ammea.

T foreean TEN A

Frdl eEn Rasaan oga.

Fd Raewn w9 oTRq.

Ry -

I @ freean an Rasen amRa.
II. Fé % 8 gEn .
1. Svad $99 & Reswrn .

(1) o fesd sts 1@ (2) e Frsd T et o
(3) frswd 19 IT SR amq @ aa‘ﬁmséa_ﬂatan%a

Statements :

All locks are keys.

All keys are doors.

Some doors are windows.
Some windows are floors.

Conclusions :

I.  Some keys are windows.

II. Some floors are not doors.
ITI. Any locks are not windows.

(1) None of the conclusions are correct (2) Only conclusion I is correct

(3) Conclusions I and II are correct (4) All conclusions are correct

70.

30 feaarem wen Aig=rd 9= wifvar amdd. & qig=men yem foaw Siver e@w ?
(1) =R (2) dWHERr (3) gUIR (4)  YEHAR

There are five Saturdays in a month of 30 days. What will be the first day of that
month ? »

(1) Sunday (©) Monday (3) Wednesday (4) Friday

71.

et fedean den Afired wh dean TR o, wieh g vt e sl -
3,7, 16, 32, 56, 93, 142 ,
7 (2) 16 (3) 56 4) 32

In the following number series a number is wrong. Select that number from the
following options :

3,7, 16, 32, 56, 93, 142
@ 7 @ 16 (3 56 @ 32

FoEqT ISt SR / SPACE FOR ROUGH WORK P.T.O.
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72. TS TN W,
XY 12 |10 | IP
FJ| 9 |8 ?
AC| ? |11 |NV
(1) DF,8 2) SU,4 3 BG,7 4) GK 2
Insert the missing character.
XY |12 | 10 IPj
9|82
AC| ? |11 NV
(1) DF,8 (2) SuU,4 3) BG,7 4) GK 2
73. W PxQ P& Qtafgu, P+ Qrevm P& Qi o, P-Q = PR Q afea,
P+Q N PRQI IS, P=Q =N P& Qft %41, P> Q =™ Pg Q¥ weft,
Gl HIvd T3 ‘B ¥ R I UISIET TRV Fdd Hid ?
(1) B-N+KxR (2) B>P=R
3 R+S=T+B 4) B-S+L-R
If P xQ’ means P is sister of Q, ‘P + Q means P is mother of Q, ‘P - Q means P is
father of Q, ‘P + Q’ means P is brother of Q, ‘P = Q means P is daughter of Q, ‘P > Q
means P is husband of Q, then which of the following represents ‘B is the -
great-grandfather of R’ ? ‘ '
(1) B-N+KxR (20 B>P=R
3 R+S=T+B 4 B-S+L-R
74. aﬂmwiﬁmwmﬁ@bmwﬁmﬁﬁﬁmﬂ264ﬁ#maﬂﬁmmw

IMRd. W hgfdg qrEe gele i 23 fmft o W o ¥ 3w fedft a@w ww
FHAA ? '

1) 4 2 5 3 6 v 4) 17

Two metro trains are running for one and a half hours in opposite directions at a
same speed of 264 kmph on a circular railway-track. If the distance of the track from
the center-point is 23 km, then how many times will those metro trains pass each

other ?
1) 4 @2 5 3 6 4) 7

FoeqT FTHTETS] ST / SPACE FOR ROUGH WORK
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75. UHT ATH W 15 fegwama aiy whdl. 99 W B el 10 fegwma iy yhdl. S A 1t B @
feamnens wm FHia e 2nftT SR A vften feasht wm wam; ™ § = Agvaw) B e
ArTdie ? ' '

@ 12 @ 13¢ @) 14 @ 104

2 ' 3

A can build a house alone in 15 days but B alone can build it in 10 days. Aand B

work on alternate days. If A works on the first day, in how many days will the house
be built ?

1 12 @ 131 @) 14 @ 102

2 3
76.  AFTER WicTRdIA forETTa Tig e,

XZB, DGJ, SWA, MRX, AGM
(1) DGJ (2) SWA (3) AGM (4) MRX

Find the odd-man-out in the letter group series.
XZB, DGJ, SWA, MRX, AGM

(1) DGJ (2) SWA (3) AGM (4) MRX
77, foeien dem s s famren fownh v waty feer
6. T
o 72 ? 6
9 5
(1) 67 . (2) 65 3) 86 4) 37
Select the correct option in place of the question mark; in the given number
structure.
6 7
5 721 9 6
9 5
L 67 (2) 65 (3) 86 (4) 87

FHTLT HHTHTS! SR / SPACE FOR ROUGH WORK P.T.O.
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78. TG ¥ FAM HEE Wiel AR WY WOWE TEF R, 9 & 990 Invla e R g
TUrERET HeT AR, |
Eg?ﬁﬁ%mﬁmﬁaﬁ' Y B R /R st SR /R 2
3. ormia g1 dREvE TEE IR,

g, fa g1 doena e R,
. 3ofg g1 yurEuE Hier IR,
. 3G g NEuE 1ieT AR,

gt 3w ;
(1) Had 3 AT (2) %ad § i &%
(3) wad A 4) wFF

Gaurav is older than Saurav but younger than Saurabh. Saurav is as old as Arnav
but older than Pranav.

Then which of the statement/s g'iven'belo.w is/are correct ?
Statements : |

a. Arnav is younger than Saurav.

b.  Arnav is older than Saurabh.

c.  Arnav is older than Pranav.

d. Arnavis older than Gaurav.

Answer Options:
(1) Onlyaandd (2) Onlybandc
(3) Onlya (4) Onlyc

79. mmmmwaﬁmm.aﬁa,mmw;mm
ST SN[ d HoleaT 39cAl 9l SEaicl 3. A9 § Rfdgedl 391 SE saciel! 3R,
T srfag=a gHR SHeien AR, SR A 9 TN, oRidg onfYr wuw At SAvET ST
STEEE Sell, T THISTEAT STt ASET ST 0T el SRt 2 |
1) & | (2) ol

. (3) &M ' 4) g+

Six persons are sitting around a circular table. Anand is facing Heena, who is sitting
to the left of Arvind and to the right of Sanjay. Suman is to the _right of Arvind.
Manoj is facing Arvind. If Heena and Manoj, Arvind and Sanjay mutually exchange
their positions, who is now sitting next to the left of Mangj ?

(1) Sanjay ' (2) Arvind

(3) Heena (4) Suman
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80. SuiEETE R wiha WUl WRTHETE HA: TR o e e wear wikfoh

fae.

A B C D E

O # O A &8

FAIR WELL = ? . .

W OOAQO&G H# @ OO0AOQO&GHAA
@O0AG8OAHE @ OOALGOHAA

If the codes given for alphabets are repeated serially for a whole sequence of
alphabets then select the codes for the given words.

A B C D E

O # O A &

FAIR WELL = ? - . -
OOO0AQOOHH#  ®©O00A0OHAA
@OO0AGOAHH  @ODAGOHAA

81. =fen Ao SR IERET WY YaET AT O FRTen Sdisgd i AR e
§.  TTEISAT RUTRISAT S 4 X AT A,
%, S FHIHSA] THE T 4 81 3% IR,
watdt I : , A
(1) UPU 4054 (2) WBB 3544 (3) DLM 3214 4) MPY 8324

While investigating about a stolen car, the police received information from different -
persons as follows : ’

a. The car number has four digits.

b. The sum of digits of the car number is divisible by 4.
c. The unit place digit of the car number is 4.

Answer Options:

(1) UPU4054 (2 WBB3544  (3) DLM3214 (4 MPY8324

82, I firhe wdEd AN 18 HUM IR A9 iR SR, TS UMW gET YedH |t
A GSEATET AR, 9 THU ama T et ?
1) 179 (2) 163 3 173 - (4) 153
18 teams have registered their names for the cricket competition. Every team has to
play a match with another team. How many total matches will there be ?

1 179 (2) 163 @) 113 (4) 153
FEEYT BETHTS ST / SPACE FOR ROUGH WORK ’ ’ ; P.T.O.




A15 | 32 A
83. meme&wmﬁﬁwm@wmeﬁwwm@W
TreAIohe ITHACAT A=A Ioriehgy et a7ar .
ABCDEFGH ’
1 E 2 F 3 G ' 4 H
Select by using the following group of letters, the letter that comes third to the right

of the letter that comes immediately to the left of the letter, that comes third to the
right of the letter, immediately to the left of the letter B.

ABCDEFGH
(1) E (2) F @ G 4) H

84. WifcThdIel TSR 3 W ;
43, 95, 167, ?, 3873, 507

(1) 261 (2) 259

(3) 360 : ' (4) 257

Find the missing number in the series :

43, 95, 167, ?, 373, 507
(1) 261 ’ (2) 259
(3) 360 . (4) 257

-85, el oo seft auinreren arar T Avfiined weAfEr (?) SIEh hiviar THE AR ?
BZA, DYC, FXE, ?, JVI
(1) WHG
(2) HUG
(3) HWG
(4) UHG

In the following English alphabet’s letter groups series, which group will come in the
place of the question mark (?)

BZA, DYC, FXE, ?, JVI
(1) WHG '
(2) HUG
(3) HWG
(4) UHG

Foed] FTIS! SR / SPACE FOR ROUGH WORK
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86. mem@maﬁﬁmaaﬁﬁmmmm.

T 7
. g gfaEy 3 wgwer FrEo I. 1974 .
B R iCRE ] II. 1980
%. o faag 7 yguor FEEm III. 1981
3. gAY , IV. 1972
it I ;
H q 3 3
1 Iv II I I
2 I I v III
3) III v I II
4 I III IT v
Matéh the correct pairs of Act and its Year for the environmental protection.
Act ‘ Year-
a. Air (Prevention and Control of Pollution) I. 1974
'b.  Wild Life Protection - ©IL 1980
c. Water (Prevention and Control of Pollution)  IIL 1981
d. Forest Conservation - IV. 1972
Answer options: '
a b c. d
1 IV II III I
2 I I v III
(3 III v I II
4 I III II v
87. A UG H <t geefia IR,

(1) SO, AT IHEATER HATET AT

(2) IS AT &9 AisiavaETS waidt yerater fawm
(3) wiaTe D IeEeH HH H

(4) ST A FH O

Kyoto Conference is concerned with :
(1) limiting production of SO,
(2) developing alternatives to ozone depleting substances
(3) reducing emission of greenhouse gases
- (4) reduction in usé of energy :
FTEUT HETAIS! SN / SPACE FOR ROUGH WORK : ‘ "P.T.O.
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88,  walawUd gitars TR __ AR e SHITS B
(1) CO, _ 2 Cco -
(3) v (Fluorocarbons) (4) .NO,
Greenhouse effect is enhanced in the environment by the gas.
(1) CO, ‘ (2) CO
(3) Fluorocarbons (4) NO,

89. Wit Sewm Je&al

%, faum e 1. Ed HRE@H
. e I g uiwg II. g&arE
%, g 99mE e : 1. afoea A &g
8. S 99 i o IV. a1 7& Yheq
I W
H q &® S
1 1I 111 v 1
@2 I v 111 1I
@3 Iv I II 111

4) III II I v
Match the following pairs :

a. Chipko Movement I. Fertilizer Industry
b.  Kerala Shastra Sahitya Parishad © II. Deforestation
c. . Soil Conservation Movement =~ III. Hydro Electricity Generating Project
d Bombay Protecting Committee IV. Tawa River Project
Answer options : . '
a b c d
1 1I I1I v I
@ 1 v I II
3 Iv. I II I

4) 1III II I Iv

90, MPAEEIHT_ IfeEiEe g gl
(1) e (2) WIEHE
(3) TEgIeH (4) @l T
. Depletion of ozone layer is due to oxide of :
(1) Carbon (2) Phosphorus
(3) Nitrogen (4) None of the above

FHeedT HHMNIS! SR / SPACE FOR ROUGH WORK
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91. o Wi domeht wafd am.

(1) s

(2) @ .

(3) it st (AR ghaR)

(4) ifoe s

Abel Prize is related to the ﬁeld of
(1) Electronics

(2) Mathematics ‘

(3) Mechanical Engineering

.(4) Physics

92. el wElq WS GEAT HUHET 31 YAdeBl, Wy AE TaEiore), qrean FArsiead IHRvATd
A THFS TEH
¥, THgE @
*. ITEvE

€. Ha HESEE
g I ;
(1) %o IAF ' (2) S S

8 wHd 4) FHE

The world’s second largest sitting statue, the Statue of Equality has been erected in
his memory.

a. Ramakrishna Paramhansa
b. Ramdas Swami

c. Aryabhatta

d. Saint Ramanujacharya

Answer Options :
(1) Onlya (2) Onlyec
(3) Onlyb ' (4) Onlyd
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Who is the author of the book “By Mahy a Happy Accident: Recollecﬁons of a Life” ?
(1) Priyanka Chopra Jonas

(2) M. Hamid Ansari

(3) Shashi Tharoor

(49) Y. Mrunal

94. @Fﬁ?«rﬁuﬁﬁwmw»: |
. HER faurad feder 2021 7ed ‘wifts ot wieR 3.
q. I TR B e wg .
*. @WaﬁgmwmmﬁﬁAwaﬂ%
T e s 2 frias ame . N

TE o R S R ?
(1) & 31, § a7 & Q) wR A
(3) e & MU € (4) wEq o anfr g

Consider the following statements :

a. Maharashtra Legislative Assembly passed ‘Shakti’ bill in vDecember 2021.
b. There is a provision of death penalty to rapist. o
c. There is a provision of 10 years imprisonment to acid attacker on women.
d.  This bill was submitted in the Assembly by the Finance Minister.

* Which of the following statements are correct ?
(1) Onlya,bandc (2) Onlyaandb
(3 Onlycandd (4) Onlyaandd
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Match the pairs :
a. Sinopharm I. America
b. Covishield II. Russia
c. Sputnik III. China
d. Moderna IV. India
Answer Options :
a b c d
1 II v I I
2 III v II I
3 I II1 II v
@ 1 v I III
96. 3.4. 2021 TS Wiqdw et At wivma e ?
(1) 3o+ Ay s
(2) =i W 9 feist queE
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(4) weT &h|
Who received the Nobel Peace Prize in 2021 ?
(1) - David Card and Joshua Angrist
(2) Maria Ressa and Dmitry Muratov
(3) Abdulrazak Gurnah
(4) Kamala Harris
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In March 2021, Lok Sabha, Rajya Sabha TV were merged to form which TV ?
(1) DD National TV

(2) Hindustan TV

(3) India TV

(4) Sansad TV

98.

RS Bldh RIS Ereie faum Remwd o

A, 7 IEHR SHERE AT fhen Hiesgew g yifsm .
¥, @ aRdE R fawmde deHERd e sl

%, A1 Qe A s 9 T e, _
g 9Y 2021 97 YR WA THT JEH AT AT, ,
Tl S faum st s ? :
gt I

(1) ed 31, § T &

(2) W E, H M E

(3) waa I, qafrg
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" Consider the following statements about ‘Dadasaheb Phalke’ Award :

a. Sponsored by the Directorate of Film Festivals.
It is given for outstanding contribution to the development of Indian Cinema.

b

¢.  Prize amount is ¥ 1 lakh.

d. Award for the year 2021 has been given to Rajinikanth.
Which of the above staterments are correct ?

Answer Options :

(1) Onlya,bandc

(2) Onlyb,candd

(3) Onlya,b and d

(4) Onlya,candd
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99. ‘-—rqﬁq Regfores eor — 2020 (NEP — 2020) 190 @reiicrish! Hivid fau™ stist 7787 2
) It 2020 HEA T O AT
(2) foren Sew waTen SFTfaes I HETRA] i .
(3) o wfis — 1986 =i ST U
(4) ameA 10 + 2 ¥ash 7 + 4+ 3 + 1 = uga s@a
Consider the following statements about New Education Policy — 2020 (NEP - 2020).
Which of the statements i is not correct ?
(D Approved in July 2020
(2) Its aim is to make India a global knowledge superpower.
(3) It will replace Policy on Education 1986 (NPE — 1986).
(4) Instead of 10 + 2 there willbe 7 + 4 + 3 + 1 pattern.

100. a%ﬁ202oaﬁﬁ$@mmm@mﬁmﬁmaﬁmm%?
=N TAHE 2N TAEA TIH TAF 1T e
¥,  YHAH HE YSHEE 48 9 T YIS el

%. m{aﬁdﬁgaum%m%?ﬁ
ﬂ'ﬂ"'d’f'ﬁﬁt

(1) Bed A
(2) $Fd T
(3) WF
(4) ol TRl AT
Which of the following statements is correct about the medal tally at the Tokyo 2020
Olympics ?
a. Host country Japan secured first position.
b. India secured 48th position with total seven medals.
c. India secured three Gold Medals.
Answer Options :
(1) Onlya
(2) Onlyb
(3) Onlyc
, (4) None of the above

HoedT SHTHIS SN / SPACE FOR ROUGH WORK P.T.O.



A15

AT —

40 A

(I8 1967 9R.....)

(8) wgfwaed fafgm oo fafie Srfe =22+ (@ 9%) =@, wyfGrreafiiea STafiFa a1
FATETER F==l T Hod™ o FHd FOGTAT IWH F 3R, I A TS T AR INGER T
T Feren “ghgmed For=n RoewEn yfody HoaEEas sfufian-82” arden wgdgEr Hrar
W@%ﬁaawwﬁwwmmm/%m@-mmmﬁéﬂ
LiER SR ,

9) FR UHFEE s fafgq Foch 2 dreTHw SHgERET § TAYRET TR GRTRETsTe
UIA T WEEf IR, Wi UlTETETR Avage! AW suedl IWuieEl WEl-1
FHALRTRS 7 frawar wa w0 eiavas e,

1. . 201.

9. . 201.

| eTgel HRe
et} =Tet IS¢ HUATETS! I qerd: TaT el ? .
1) Tt e wwEd (2) TRawEg REErR
(3) TS UwHIGH T (4) TOTBHE MG |
W VR A I 43) T TR G97 o TR, WS A YER R “3)” A,
I WA T . 201 TG IRFH “@)” § ade P Srifhd FEA
@ @ @ ©
I TgA T TR Fedd STl g S-S 8 R Wi g
FUCRa(E &1 W IHAGEERT Fefyd age Ul SEifhd He- JrEaral. gresiar
e hTesdT VTS Sierd arodrd, Ui =1 wge o anoe 2.

STAT STHTATS! ST191T | SPACE: FOR ROUGH WORK



